EARAROBEEIERT — 2 N— IBISH —F 20155F9A20H (H) 12m{£E4H

m HeE#Es +>%3mL (xwlw | lmEmml - |5 8 s e
[AE4£] 17 :800,000 " ~ 237%&:184,000  ~ 33#&:72,000  ~ 43#&:40,000™ . 5 3&:24,000 F
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
# o8 | WO 1:55.7 1-1-1-1 | 37.0| -— 1 546 | ABM®RK (1EH)
112 d9a1—k—0O— 55.0 (-) (-6) b=y =P
LipaM == B UT7INATA-") AL Sah
s o M : —4-2- - IEEA (EE)
oWl 4| XA RININILT T i 7 57.0f 1'(587)'3 o2 |32 2 (5_017) = (a g .
L:TYHA XTI R I Y TILZAR- b FIR=WF 77— Ln
t 6 | KERD 1:57.4 3-2-4-3 |38.3| — 5 511 | SHEB (£8)
3|5|5 |77 HT g 55.0 (1/2) “+7) Fas -
R:V2RYJURAIR BRI AFv T 1 HE77—L4
# 8 | HKTHA 1:57.9 2-3-3-4 |38.8| — 4 462 | WTEX (£H)
4 0Y 6 LA 8 ¥¢55.0 (2 1/2) 1) AT
L:h14=29 B:XFITUZR HET77—L
o REE_ :59. —8-7- . — BART (£8)
50117 7zv%— H 6 =5 1(579)3 8-8-7-6 | 38.4 7 (4:3 $EE—&; "
L:yrh—r Bih—ZNLILY fult e ]
o . WaLLFn :59. —5-5— X = =SHEE (E8)
6 3 RKYy—LE=ZX # 9 N0 1(519)5 5-5-5-5 | 40.0 6 fzég) ol "
v RNFAY>TF— BALE—H-I FAMS
N el : —7-6- - HHIE (£8)
707l 7| V=% wy 20 4t 10 o 2.(060>.7 7-7-6-7 | 40.2 8 <4+525) o ®
TFAITLANRTF— B:FAILAEY b e ]
S s g 4 5 | WTHRE 2:06.8 6-6-8-8 | 46.2| — 3 497 | AR (1EH)
g|8|8|¥TINEY 5.0 (54%) Lo |TEE
R:T7REIAYRY B:g1x70-F JRE B
@ 1—F—@&BIEf
13=7r= 2,6,5,4,3,8,7,1
Aol=5r= 2,5,6,4,3,8,7,1
G§a=7r= 2,4,6,5,3,7,1,8
41—+ — 2,4,5,6,3,1,7,8
[ RN
B OB 2 140M 714K 2-4 100H B E 2-4 130H &R 2-4-5 490M
8 B 2 1009 2-5 350M B H 2-4 180 JEH 2-4-5 750
4 1004 4-5 380M
5 180F4

ABICOVWTRDTEEERROODE. TR LIV,



